


There are a certain number of people who live in different
countries But not more than 22. They are sitting in a
linear line, facing North. There are 3 people between A
and D. C is sitting at 5th to the right of B. The person who
lives in Chinais at 4! to the right of A.B is to the
Immediate left of the person who lives in Denmark. D is
at the 7th position from the extreme left end. The person
from Denmark is sitting at 6 to the right of the person
from China. There are 9people between the person who
lives in china and C who lives in Switzerland. The person
from Denmark is at7th to the left of the person from
Singapore.

S Wm%tg
el iy 3%35“1

s




There are a certain number of people who live in different
countries But not more than 22. They are sitting in a
linear line, facing North. There are 3 people between A
and D. C is sitting at 5th to the right of B. The person who
lives in China is at4th to the right of A.B is to the
Immediate left of the person who lives in Denmark. D is
at the 7th position from the extreme left end. The person
from Denmark is sitting at 6 to the right of the person
from China. There are 9people between the person who
lives in china and C who lives in Switzerland. The person
from Denmark is at7th to the left of the person from
Singapore.

Minimum how many persons are sitting in the
arrangement?

a) 20
b) 11
c) 24
d) 26
e) 17



There are a certain number of people who live in different
countries But not more than 22. They are sitting in a
linear line, facing North. There are 3 people between A
and D. C is sitting at 5th to the right of B. The person who
lives in China is at4th to the right of A.B is to the
Immediate left of the person who lives in Denmark. D is
at the 7th position from the extreme left end. The person
from Denmark is sitting at 6 to the right of the person
from China. There are 9people between the person who
lives in china and C who lives in Switzerland. The person
from Denmark is at7th to the left of the person from
Singapore.

What Is the position of C with respect to D?

a) 5 to the right
b) 10" to the left
c) Immediate left
d) 5 to the left
e) 10t to the right



There are a certain number of people who live in different
countries But not more than 22. They are sitting in a
linear line, facing North. There are 3 people between A
and D. C is sitting at 5th to the right of B. The person who
lives in China is at4th to the right of A.B is to the
Immediate left of the person who lives in Denmark. D is
at the 7th position from the extreme left end. The person
from Denmark is sitting at 6 to the right of the person
from China. There are 9people between the person who
lives in china and C who lives in Switzerland. The person
from Denmark is at7th to the left of the person from
Singapore.

How many persons are sitting between C and the person
from Singapore?

a) 4
b) 5
c) 7/
d) 2
e) 3
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There are a certain number of people who live in different
countries But not more than 22. They are sitting in a
linear line, facing North. There are 3 people between A
and D. C is sitting at 5th to the right of B. The person who
lives in China is at4th to the right of A.B is to the
Immediate left of the person who lives in Denmark. D is
at the 7th position from the extreme left end. The person
from Denmark is sitting at 6 to the right of the person
from China. There are 9people between the person who
lives in china and C who lives in Switzerland. The person
from Denmark is at7th to the left of the person from
Singapore.

What Is the position of A from the Left end ?

a) 6th
b) 3rd
c) 4t
d) 11th
e) 10t



There are a certain number of people who live in different
countries But not more than 22. They are sitting in a
linear line, facing North. There are 3 people between A
and D. C is sitting at 5th to the right of B. The person who
lives in China is at4th to the right of A.B is to the
Immediate left of the person who lives in Denmark. D is
at the 7th position from the extreme left end. The person
from Denmark is sitting at 6 to the right of the person
from China. There are 9people between the person who
lives in china and C who lives in Switzerland. The person
from Denmark is at7th to the left of the person from
Singapore.

If we interchange the position of C and D then what will
be position of B from new position of D?

a) 6" to the left
b) 8 to the right
c) 5 to the right
d) 5 to the left
e) 7t to the right



There are two buses namely Bus 1 and Bus 2 starts
from the same point A in their respective journey.
Bus 1 starting from point A travels 2 km in East
direction and to reach point B. From point B, Bus 1
takes aright turn and travel 5 km to reach point C and
from point C it travels 2 km to its left to reach point D.
From point D Bus 1 travels 4 km North to reach point
E and then turns to its left and travel 4 km to reach
final destination point F and stops there. The Bus 2
starts its journey from A and travels 3 km in West
direction to reach point O. From point O Bus 2takes
a right turn and travels 7 km to reach point P and
further travels 2 km to its right to reach point Q.
From point Q it travels 13 km South to reach point R.
From point R Bus 2 takes a left turn travels 1 km to
reach point Sand stops there.
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Bus 1 starting from point A travels 2 km in East direction
and to reach point B. From point B, Bus 1 takes aright turn
and travel 5 km to reach point C and from point C it travels
2 km to its left to reach point D. From point D Bus 1 travels
4 km North to reach point E and then turns to its left and
travel 4 km to reach final destination point F and stops
there. The Bus 2 starts its journey from A and travels 3 km
in West direction to reach point O. From point O Bus 2takes
a right turn and travels 7 km to reach point P and further
travels 2 km to its right to reach point Q. From point Q it
travels 13 km South to reach point R. From point R Bus 2
takes a left turn travels 1 km to reach point Sand stops
there. Suppose a imaginary point X is in North West of A,
from there a perpendicular is dropped on a point L which
isin line with OB and total distance between point L and B
is 17 km. What is the distance between the L and point O?
Suppose a imaginary point X is in North West of A, from
there a perpendicular is dropped on a point L which isin line
with OB and total distance between point L and B is 17 km.
What is the distance between the L and pointO?

az 9 km

b) 8 km



Bus 1 starting from point A travels 2 km in East direction
and to reach point B. From point B, Bus 1 takes aright turn
and travel 5 km to reach point C and from point C it travels
2 km to its left to reach point D. From point D Bus 1 travels
4 km North to reach point E and then turns to its left and
travel 4 km to reach final destination point F and stops
there. The Bus 2 starts its journey from A and travels 3 km
in West direction to reach point O. From point O Bus 2takes
a right turn and travels 7 km to reach point P and further
travels 2 km to its right to reach point Q. From point Q it
travels 13 km South to reach point R. From point R Bus 2
takes a left turn travels 1 km to reach point Sand stops
there. Suppose a imaginary point X is in North West of A,
from there a perpendicular is dropped on a point L which
isin line with OB and total distance between point L and B
is 17 km. What is the distance between the L and point O?
Point F is in which direction with respect to point B?

South West

North East

South

North West

East
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Bus 1 starting from point A travels 2 km in East direction
and to reach point B. From point B, Bus 1 takes aright turn
and travel 5 km to reach point C and from point C it travels
2 km to its left to reach point D. From point D Bus 1 travels
4 km North to reach point E and then turns to its left and
travel 4 km to reach final destination point F and stops
there. The Bus 2 starts its journey from A and travels 3 km
in West direction to reach point O. From point O Bus 2takes
a right turn and travels 7 km to reach point P and further
travels 2 km to its right to reach point Q. From point Q it
travels 13 km South to reach point R. From point R Bus 2
takes a left turn travels 1 km to reach point Sand stops
there. Suppose a imaginary point X is in North West of A,
from there a perpendicular is dropped on a point L which
isin line with OB and total distance between point L and B
is 17 km. What is the distance between the L and point O?
Wh|i:Ch gf thF? following points stands in a straight line?

a
b) A-F-S
c) C-D-S
d B-E-P
e) B-A-P



Seven people — A, B, C, D, E, F and G are sitting in a
row but not necessarily in the same order. Some are
facing north, and some are facing south. Each of
them has a different number of flowers numbers from
21 to 27 but not necessarily in the same order. A and
C are not sitting at the extreme ends and also A is
sitting four places away to the left of C. A, who is
facing north is sitting adjacent to the person who has
26 flowers and that person is not sitting at the
extreme ends. C does not have an even number of
flowers and F is sitting at the extreme right. The sum
of the flowers of C and B is 46. The sum of the
flowers of F and C is 47 and they both are sitting
adjacent to each other. The person who has 21
flowers is sitting at the extreme left. Onl 1}/ one person
sits between B and D and both of them facing
opposite direction to each other. G sits adjacent toC
and facing opposite direction to C and has flowers
which area multiple of 3 and 9 both. More than three

nareAane ara farinAa narth PDarecan citfina ot tha



LE
=l

2:
i

O

:

o b Ehrde

=

&

LL

3

_“3

i

wwwmmww




A and C are not sitting at the extreme ends and also A
is sitting four places away to the left of C. A, who is
facing north is sitting adjacent to the person who has
26 flowers and that person is not sitting at the extreme
ends. C does not have an even nhumber of flowers and
Fis sittin%at the extreme right. The sum of the flowers
of C and B is 46. The sum of the flowers of F and C is
47 and they both are sitting adjacent to each other.

The person who has 21 flowers is sitting at the extreme
left. Only one person sits between B and D and both of
them facing opposite direction to each other. G sits
adjacent to C and facing opposite direction to C and
has flowers which area mulitiple of 3 and 9 both. More
than three persons are facing north. Person sitting at
the extreme ends are facing the same direction. E has
more flowers than B but less than C and is facing
south. Immediate neighbors of E face same direction to
each other.

Which person has 21 flowers?

a) B

Vo



A and C are not sitting at the extreme ends and also A
is sitting four places away to the left of C. A, who is
facing north is sitting adjacent to the person who has
26 flowers and that person is not sitting at the extreme
ends. C does not have an even nhumber of flowers and
Fis sittin%at the extreme right. The sum of the flowers
of C and B is 46. The sum of the flowers of F and C is
47 and they both are sitting adjacent to each other.
The person who has 21 flowers is sitting at the extreme
left. Only one person sits between B and D and both of
them facing opposite direction to each other. G sits
adjacent to C and facing opposite direction to C and
has flowers which area mulitiple of 3 and 9 both. More
than three persons are facing north. Person sitting at
the extreme ends are facing the same direction. E has
more flowers than B but less than C and is facing
south. Immediate neighbors of E face same direction to
each other.

V\{hg is sitting two places away to the right of D?

a

Vo



A and C are not sitting at the extreme ends and also A
is sitting four places away to the left of C. A, who is
facing north is sitting adjacent to the person who has
26 flowers and that person is not sitting at the extreme
ends. C does not have an even nhumber of flowers and
Fis sittin%at the extreme right. The sum of the flowers
of C and B is 46. The sum of the flowers of F and C is
47 and they both are sitting adjacent to each other.
The person who has 21 flowers is sitting at the extreme
left. Only one person sits between B and D and both of
them facing opposite direction to each other. G sits
adjacent to C and facing opposite direction to C and
has flowers which area mulitiple of 3 and 9 both. More
than three persons are facing north. Person sitting at
the extreme ends are facing the same direction. E has
more flowers than B but less than C and is facing
south. Immediate neighbors of E face same direction to
each other.

IrS V\éhidCh position is E sitting from the extreme left?

a n



A and C are not sitting at the extreme ends and also A
is sitting four places away to the left of C. A, who is
facing north is sitting adjacent to the person who has
26 flowers and that person is not sitting at the extreme
ends. C does not have an even nhumber of flowers and
Fis sittin%at the extreme right. The sum of the flowers
of C and B is 46. The sum of the flowers of F and C is
47 and they both are sitting adjacent to each other.
The person who has 21 flowers is sitting at the extreme
left. Only one person sits between B and D and both of
them facing opposite direction to each other. G sits
adjacent to C and facing opposite direction to C and
has flowers which area mulitiple of 3 and 9 both. More
than three persons are facing north. Person sitting at
the extreme ends are facing the same direction. E has
more flowers than B but less than C and is facing
south. Immediate neighbors of E face same direction to
each other.

The sum of flowers of which two people is 537
a) G&B

N O I



A and C are not sitting at the extreme ends and also A
is sitting four places away to the left of C. A, who is
facing north is sitting adjacent to the person who has
26 flowers and that person is not sitting at the extreme
ends. C does not have an even nhumber of flowers and
Fis sittin%at the extreme right. The sum of the flowers
of C and B is 46. The sum of the flowers of F and C is
47 and they both are sitting adjacent to each other.
The person who has 21 flowers is sitting at the extreme
left. Only one person sits between B and D and both of
them facing opposite direction to each other. G sits
adjacent to C and facing opposite direction to C and
has flowers which area mulitiple of 3 and 9 both. More
than three persons are facing north. Person sitting at
the extreme ends are facing the same direction. E has
more flowers than B but less than C and is facing
south. Immediate neighbors of E face same direction to
each other.

Who sits second to the right of G?
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Which of the following symbols should be
placed in blank spaces (from left to right)
in order to complete the given expression
that makes the expression C > R

definitely True?
> < = >




Which of the following symbols should be
placed in the blank spaces respectively
(in the same orderfrom left to right) in
order to complete the given expression in
such a manner that “Y < C” and “B >Y”
definitely holds true?

C_Z_Y_B
a) 2,2, <
b) S!<!=
c) >, >, <
d) 2!=!>

L2
pa

one of these



In which of the following statements does
the expression 'P < U' is definitely true.

a) M>N=20O0=P>R>U
b) M>U>0=P=R>N
c) M>U=20=P>R>Q
d M>U 20=P=2R>N
e) U2M=20=P>R>Q




Statements:

Only a few relations are doubtful

No artificial is real

Some doubtful are real

Conclusions:

. Some doubtful being real are not
artificial

[l. All doubtful can be artificial

lll. Atleast few real are relations

a) Only conclusion | follows

b) Only conclusions | and lll follows
c) Only conclusion Il and lll follows
d) Only conclusion Il follows

— \ P . R | EgE _ __ B RDRD £ _ 10



Statements:

Some people are honest

Only a few people are good

All good are ra

Conclusions:

|. All good being honest is a possibility
ll. All honest being Ram is a possibility
lll. Atleast few Ram are people

a) Only conclusion | and |l follows
b) Only conclusion Il and lll follows
c) Only conclusion | follows

d) Only conclusion lll follows

e) All follows



Statements:

Only a few Writers are criticized

Few believers are Writers

No Dentist is criticized

Conclusions:

. At least some Writers are Dentist

ll. All criticized being believers is a
possibility

[ll. At least some believers are dentists.

a) Only conclusion | follows
b) Only conclusion |l follows
c) Only conclusion Il follow
d) None follows
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Statement:

Prime Minister Shinzo Abe’s ruling coalition

scored a landslide victory at the polls, boosted

by his campaign promises to invest more

heavily in education and childcare, aimed

partly at encouraging more women to join the

workforce.

Assumptions:

1. The number of women workers in Japan
are lesser than men.

2. Women are reluctant to join the workforce
because of education and childcare.

a) Only 1

b) Only 2

c) Either 1 or 2

d) Neither 1 nor 2
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Statement: Malaysia has set up a trust fund for

the public to donate money in order to help the

government repay the country's debt.

Malaysia's Finance Ministry said the fund would

be called Malaysia Hope Fund and the

contributions must be made in cash. Will this

help to gain financial stability?

Arguments:

|. Yes, Malaysia's national debt amounts to
$250.8 billion which is 80% of its GDP.

Il. No, Malaysia's debt amounts to $250.8
billion which is 8% of its national GDP.

lll. Yes, 80% of Malaysia's GDP amounts to the
debt amount of about $250.8 billion.

a) None is strong.

b) Only | and lll are strong.

c) Only Il and lll are strong.
A Onlv | ie etrona
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There are seven boxes i.e. A, B, C, D, E, F and
G which are of different colour and kept one
above the other. The boxes are of different
weights. Only two boxes are kept between box
A and box C. Pink colour box is kept
immediately below C. Box A is of Blue colour.
There is only one box kept between the Pink
colour box and the Black colour box. The blue
colour box is kept above the Black colour box.
Only two boxes are lighter than the Blue colour
box. Only three boxes are kept between Red
colour and Black colour box. The white colour
box is heavier than Red colour box but just
lighter than the Black colour box. The pink
colour box is just lighter than Red colour box.
The black colour box is not the heaviest. Only
two boxes are kept between box F and Red

coloiir boxy Rov F ie idhtar than bovy F which ie






Only two boxes are kept between box A and box C.
Pink colour box is kept immediately below C. Box A
is of Blue colour. There is only one box kept between
the Pink colour box and the Black colour box. The
blue colour box is kept above the Black colour box.
Only two boxes are lighter than the Blue colour box.
Only three boxes are kept between Red colour and
Black colour box. The white colour box is heavier
than Red colour box but just lighter than the Black
colour box. The q_lnk colour box is just lighter than
Red colour box. The black colour box is not the
heaviest. Only two boxes are kept between box F
and Red colour box. Box F is lighter than box E
which is kept immediately below box F. Black colour
box is just lighter than box D. Only one box kept
between box E and box B. Box G is kept immediately
below the green colour box. One of the boxes is of
E)(ellow colour. The white box is kept above the pink
OX.
How many boxes are kept below the box which is
iust liahter than the box D?



Only two boxes are kept between box A and box C.
Pink colour box is kept immediately below C. Box A
is of Blue colour. There is only one box kept between
the Pink colour box and the Black colour box. The
blue colour box is kept above the Black colour box.
Only two boxes are lighter than the Blue colour box.
Only three boxes are kept between Red colour and
Black colour box. The white colour box is heavier
than Red colour box but just lighter than the Black
colour box. The q_lnk colour box is just lighter than
Red colour box. The black colour box is not the
heaviest. Only two boxes are kept between box F
and Red colour box. Box F is lighter than box E
which is kept immediately below box F. Black colour
box is just lighter than box D. Only one box kept
between box E and box B. Box G is kept immediately
below the green colour box. One of the boxes is of
E)(ellow colour. The white box is kept above the pink
OX.
Which of the following box is of Green color?
a2) Box D



Only two boxes are kept between box A and box C.
Pink colour box is kept immediately below C. Box A
is of Blue colour. There is only one box kept between
the Pink colour box and the Black colour box. The
blue colour box is kept above the Black colour box.
Only two boxes are lighter than the Blue colour box.
Only three boxes are kept between Red colour and
Black colour box. The white colour box is heavier
than Red colour box but just lighter than the Black
colour box. The q_lnk colour box is just lighter than
Red colour box. The black colour box is not the
heaviest. Only two boxes are kept between box F
and Red colour box. Box F is lighter than box E
which is kept immediately below box F. Black colour
box is just lighter than box D. Only one box kept
between box E and box B. Box G is kept immediately
below the green colour box. One of the boxes is of
E)(ellow colour. The white box is kept above the pink
OX.
Which of the following box is the lightest?
a) Box E



Only two boxes are kept between box A and box C.
Pink colour box is kept immediately below C. Box A
is of Blue colour. There is only one box kept between
the Pink colour box and the Black colour box. The
blue colour box is kept above the Black colour box.
Only two boxes are lighter than the Blue colour box.
Only three boxes are kept between Red colour and
Black colour box. The white colour box is heavier
than Red colour box but just lighter than the Black
colour box. The q_lnk colour box is just lighter than
Red colour box. The black colour box is not the
heaviest. Only two boxes are kept between box F
and Red colour box. Box F is lighter than box E
which is kept immediately below box F. Black colour
box is just lighter than box D. Only one box kept
between box E and box B. Box G is kept immediately
below the green colour box. One of the boxes is of
E)(ellow colour. The white box is kept above the pink
OX.
How many boxes are lighter than the box which is
kept immediatelv below A?



Only two boxes are kept between box A and box C.
Pink colour box is kept immediately below C. Box A
is of Blue colour. There is only one box kept between
the Pink colour box and the Black colour box. The
blue colour box is kept above the Black colour box.
Only two boxes are lighter than the Blue colour box.
Only three boxes are kept between Red colour and
Black colour box. The white colour box is heavier
than Red colour box but just lighter than the Black
colour box. The q_lnk colour box is just lighter than
Red colour box. The black colour box is not the
heaviest. Only two boxes are kept between box F
and Red colour box. Box F is lighter than box E
which is kept immediately below box F. Black colour
box is just lighter than box D. Only one box kept
between box E and box B. Box G is kept immediately
below the green colour box. One of the boxes is of
E)(ellow colour. The white box is kept above the pink
OX.
Box C is of which color box?
a) Green



Six persons are born in six different years. Their
ages are calculated with respect to 2018. They like
six different fruits Cherry, Orange, Apple, Mango,
Banana and Grapes, but not necessarily in the same
order. None of them is More than 90 years old.

Note: If the person age is considered as last two
digits of the person Birth year, then it will be at any
sequence. For example, A’s age is considered as
last two digit of B's birth year-1947, and then A’s age
is either 47 or 74. The one who is third youngest
among them likes Apple. Manika was elder than
Charu. The age difference between Tarun and the
one who likes cherry is 21 years. Visakha age was
sum of all the digits of birth year of the one who like
cherry. The one who likes Mango is 5 years elder
than Visakha. Only one person born was before
Arko. Arko age was equal to the last two digits of the
birth year of the one who likes Mango. The difference
between Ages of Arko and Viraj was 24 years. The

Aana whna ikce Ranana harm immadintahrs hafara thaoea
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The one who is third youngest among them
likes Apple. Manika was elder than Charu.
The age difference between Tarun and the
one who likes cherry is 21 years. Visakha age
was sum of all the i%_its of birth year of the
one who like cherry. The one who likes Mango
Is 5 years elder than Visakha. Only one
person born was before Arko. Arko age was
equal to the last two digits of the birth year of
the one who likes Mango. The difference
between Ages of Arko and Viraj was 24 years.
The one who likes Banana born immediately
before the one who likes Grapes. Tarun was
born in 1983.

Who among the following persons likes
Orange?

a) None of those given as options



The one who is third youngest among them
likes Apple. Manika was elder than Charu.
The age difference between Tarun and the
one who likes cherry is 21 years. Visakha age
was sum of all the i%_its of birth year of the
one who like cherry. The one who likes Mango
Is 5 years elder than Visakha. Only one
person born was before Arko. Arko age was
equal to the last two digits of the birth year of
the one who likes Mango. The difference
between Ages of Arko and Viraj was 24 years.
The one who likes Banana born immediately
before the one who likes Grapes. Tarun was
born in 1983.

What is the age of the one who likes Apple?

a) 31 years

b) 46 years



The one who is third youngest among them
likes Apple. Manika was elder than Charu.
The age difference between Tarun and the
one who likes cherry is 21 years. Visakha age
was sum of all the i%_its of birth year of the
one who like cherry. The one who likes Mango
Is 5 years elder than Visakha. Only one
person born was before Arko. Arko age was
equal to the last two digits of the birth year of
the one who likes Mango. The difference
between Ages of Arko and Viraj was 24 years.
The one who likes Banana born immediately
before the one who likes Grapes. Tarun was
born in 1983.

What will be the sum of ages of the youngest
and the eldest person among them??

a) 99 years



The one who is third youngest among them
likes Apple. Manika was elder than Charu.
The age difference between Tarun and the
one who likes cherry is 21 years. Visakha age
was sum of all the i%_its of birth year of the
one who like cherry. The one who likes Mango
Is 5 years elder than Visakha. Only one
person born was before Arko. Arko age was
equal to the last two digits of the birth year of
the one who likes Mango. The difference
between Ages of Arko and Viraj was 24 years.
The one who likes Banana born immediately
before the one who likes Grapes. Tarun was
born in 1983.

Who among the following likes Banana?

a) Viraj
b) Tarun



There are eight people A, B, C, D, E, F, G and
H are sitting around a circular table. All of
them are facing towards center. They all are of
different age viz. 3, 7, 10, 14, 17, 19, 21 and
24 years but not necessarily in the same
order. The one whose age is 10 year sits third
to the left of one whose age is 19 year. The
age of C is not 17 year. Only one person sit
between who is 17 year old and who is 19
year old. D is an immediate neighbor of the
one who is7 year old but his age is not a prime
number. Only one person sits between E and
H. E is older than H but not oldest. The one
who is 7 year old is second to the left of the
one who is 10 year old. B is of 21 year old and
sits immediate to the right of G, who is
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The one whose age is 10 year sits third to the
left of one whose age is 19 year. The age of
C is not 17 year. Only one person sit between
who is 17 year old and who is 19 year old. D is
an immediate neighbor of the one who is7
year old but his age is not a prime number.
Only one person sits between E and H. E is
older than H but not oldest. The one who is 7
year old is second to the left of the one who is
10 year old. B is of 21 year old and sits
immediate to the right of G, who is youngest
among them. Two person sits between G and
C, whose age is a prime number. Age of A is
twice of the age of C and he sits opposite to F.
What is the age of D?

a) 10 years

b) 14 years



The one whose age is 10 year sits third to the
left of one whose age is 19 year. The age of
C is not 17 year. Only one person sit between
who is 17 year old and who is 19 year old. D is
an immediate neighbor of the one who is7
year old but his age is not a prime number.
Only one person sits between E and H. E is
older than H but not oldest. The one who is 7
year old is second to the left of the one who is
10 year old. B is of 21 year old and sits
immediate to the right of G, who is youngest
among them. Two person sits between G and
C, whose age is a prime number. Age of A is
twice of the age of C and he sits opposite to F.
Who among the following sits second to the
left of E?

a) The person whose age is 14.



The one whose age is 10 year sits third to the left of
one whose age is 19 year. The age of C is not 17
year. Only one person sit between who is 17 year old
and who Is 19 year old. D is an immediate neighbor
of the one who is7 year old but his age is not a prime
number. Only one person sits between E and H. E is
older than H but not oldest. The one who is 7 year
old is second to the left of the one who is 10 year old.
B is of 21 year old and sits immediate to the right of
G, who is goungest among them. Two person sits
between G and C, whose age is a prime number.
f‘gg of A is twice of the age of C and he sits opposite
0

How many people sit between B and C when
counted in anticlockwise direction?

One

Two

Three

ellly

Ene

D O O T Q



The one whose age is 10 year sits third to the left of
one whose age is 19 year. The age of C is not 17
year. Only one person sit between who is 17 year old
and who Is 19 year old. D is an immediate neighbor
of the one who is7 year old but his age is not a prime
number. Only one person sits between E and H. E is
older than H but not oldest. The one who is 7 year
old is second to the left of the one who is 10 year old.
B is of 21 year old and sits immediate to the right of
G, who is goungest among them. Two person sits
between G and C, whose age is a prime number.
f‘gg of A is twice of the age of C and he sits opposite
o

Which of the following statement is true regarding
given arrangement?

a) F sits opposite to H
b) E sits second to the left of G

_On1lyé twcL pr$rson sit between the one whose age



The one whose age is 10 year sits third to the left of
one whose age is 19 year. The age of C is not 17
year. Only one person sit between who is 17 year old
and who Is 19 year old. D is an immediate neighbor
of the one who is7 year old but his age is not a prime
number. Only one person sits between E and H. E is
older than H but not oldest. The one who is 7 year
old is second to the left of the one who is 10 year old.
B is of 21 year old and sits immediate to the right of
G, who is goungest among them. Two person sits
between G and C, whose age is a prime number.
f‘gg of A is twice of the age of C and he sits opposite
o

What is the position of H with respect to D?

Second to the right
Second to the left
Immediate to the right

Immediate to the left
Third tA tha rinht

D O O T Q



The one whose age is 10 year sits third to the left of
one whose age is 19 year. The age of C is not 17
year. Only one person sit between who is 17 year old
and who Is 19 year old. D is an immediate neighbor
of the one who is7 year old but his age is not a prime
number. Only one person sits between E and H. E is
older than H but not oldest. The one who is 7 year
old is second to the left of the one who is 10 year old.
B is of 21 year old and sits immediate to the right of
G, who is goungest among them. Two person sits
between G and C, whose age is a prime number.
f‘gg of A is twice of the age of C and he sits opposite
o

What is the position of H with respect to D?

Second to the right
Second to the left
Immediate to the right

Immediate to the left
Third tA tha rinht

D O O T Q



Direction:
In the question below, a passage is given. From the options
below, choose the one that reflects the assumption on which

the passage lies.

I feu 7w Uy A ues e foar g1 A feu U fow e H# 9
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The rapid growth of the urban population has put huge
pressure on cities and has led to a severe shortage of
facilities. Many cities and towns are facing problems such as
lack of jobs, homelessness and expanding squatter
settlements, inadequate services and infrastructure, poor
health and educational services and high levels of pollution.
a) There should be a limit on the number of people that are
allowed to migrate from rural to urban

b) Urban cities should be shown in a negative light so that
people living in villages are discouraged from moving to
cities.

c) The government should draw a plan for urban
development and expansion.

d) People who migrate to cities should be denied healthcare
services to avoid over-burdening of healthcare
Infrastructure.

e) Sanitation services should be adequately maintained Iin
urban areas.
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Petrol price has increased to 8.5% which makes the

final price of petrol in the city Ais INR 112.40. Due to

the price increment, there is a significant decrease in

petrol and diesel vehicles in City A. What can you

understand from the above passage?

a) There Is no way to decrease the price of Petrol

b) Pollution level increased in city A

c) People may prefer electric vehicles over petrol
and diesel vehicles.

d) City A banned Petrol and diesel vehicles

e) There is a shortage of petrol and diesel in city A
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Input: 58 World 36 Query 53 79 Some Relate 68 Legend 88 Decent

Steps:

. World 58 Query 53 79 Some Relate 68 Legend 88 Decent 36
l. 53 World 58 Query 79 Relate 68 Legend 88 Decent 36 Some
Il. Relate 53 World Query 79 68 Legend 88 Decent 36 Some 58
V. 68 Relate 53 World 79 Legend 88 Decent 36 Some 58 Query
V. Legend 68 Relate 53 World 88 Decent 36 Some 58 Query 79
VI. 88 Legend 68 Relate 53 World 36 Some 58 Query 79 Decent

VI is the last step.



\( Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily



\( Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily

The highest number in step V Is element from the
right end.

a) Fifth

) I =[e]g]
c) Seventh
d) Fourth
e) Sixth



\( Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily

Which of the following is the fifth element from the left end in
step V?

a) 81

b) Length

c) Yielding
d) 424

e) Progress



\( Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily

What is the sum of first two numbers from the left end in step
1117?

a) 110
b) 149
c) 161
d) 123
e) 125



\( Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily

In how many steps "42 Yielding 81" will come together in the
same sequence?

a) One
b) Two
c) Three
d) Four
e) Five



\( Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily

Which of the following is the third word from the right end In
Step IV?

a) Easily
b) Yielding
c) Reverse
d) Progress
e) Length



Which of the following expressions is definitely
true If the expression
S=MsT=D>C>I<N=Z

IS definitely true?

a)l=Z
b)S>C
c)C>Z
dM=<C
e)l<T



Which of the following expressions will not be
definitely true if the expression is
A<B>C=D2E>F=G=H

definitely true?

a) E>H
b) C=E
c) B>G
d) B<E
e) None of these



Statement.-A<C<D:F>A<B:E<F=G
Conclusions:-

. A<G

. B>C

I.C<E

a) Only conclusion (Il) Follows
b) Only conclusion (lll) follows
c) Only (1) and (ll) follows

d) Only (I) follows

e) None follows




In an apartment, seven persons (A, B, C, D, E, F,
and G) are staying on seven different floors where
the topmost floor iIs numbered as seven and the
bottommost floor is numbered as one. Only one
person lives on each floor. F and E are neighbors to
each other. A lives four floors above G. F lives above
B, who lives immediately below G. C lives above D,
Who Is ap_immediate neighbour of G.

Uh 3fUTCHC H, YId oFfed (A, B, C, D, E, F 3R G)
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In an apartment, seven persons (A, B, C, D, E, F,
and G) are staying on seven different floors where
the topmost floor iIs numbered as seven and the
bottommost floor is numbered as one. Only one
person lives on each floor. F and E are neighbors to
each other. A lives four floors above G. F lives above
B, who lives immediately below G. C lives above D,
who Is an immediate neighbour of G.

Who lives on the fourth floor?

a) A
b) C
c) E
d F
e) Can't be determined



A person walks in the east direction from point B.
After, walking for 4km in the same direction, he took
a right turn and walks 3km to reach point C. From
there, he took a left turn of 4km then a right turn
of4km and reaches point D. Then, he turns left and
walks for 4km to reach point E. At last, he walks In
the north direction and reaches Point P after walking
7km.

Another person walks in the west direction from
point A for 5km. Then, she turns right and walks for
4km.Then, she turns right again for 5km and took a
left turn. After walking for 3km in the same direction,
she took a left turn again and walk for 5km to reach
point Q. From there, she walks 7m in the west
direction to reach Point P
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A person walks in the east direction from point B. After,
walking for 4km in the same direction, he took a right turn and
walks 3km to reach point C. From there, he took a left turn of
4km then a right turn of4km and reaches point D. Then, he
turns left and walks for 4km to reach point E. At last, he walks
In the north direction and reaches Point P after walking 7km.
Another person walks in the west direction from point A for
5km. Then, she turns right and walks for 4km.Then, she turns
right again for 5km and took a left turn. After walking for 3km
In the same direction, she took a left turn again and walk for
5km to reach point Q. From there, she walks 7m in the west
direction to reach Point P.

What is the direction of Point E with respect to Point Q?

a) South
b) South-East
c) South-West
d) North
e) North-West



A person walks in the east direction from point B. After,
walking for 4km in the same direction, he took a right turn and
walks 3km to reach point C. From there, he took a left turn of
4km then a right turn of 4km and reaches point D. Then, he
turns left and walks for 4km to reach point E. At last, he walks
In the north direction and reaches Point P after walking 7km.
Another person walks in the west direction from point A for
5km. Then, she turns right and walks for 4km.Then, she turns
right again for 5km and took a left turn. After walking for 3km
In the same direction, she took a left turn again and walk for
5km to reach point Q. From there, she walks 7m in the west
direction to reach Point P.

How far and in which direction is Point Q with respect to Point
B?

a) 19km, West

b) 17km, West

c) 19km, East

d) 17km, East

e) 16km, East




A person walks in the east direction from point B. After,
walking for 4km in the same direction, he took a right turn and
walks 3km to reach point C. From there, he took a left turn of
4km then a right turn of4km and reaches point D. Then, he
turns left and walks for 4km to reach point E. At last, he walks
In the north direction and reaches Point P after walking 7km.
Another person walks in the west direction from point A for
5km. Then, she turns right and walks for 4km.Then, she turns
right again for 5km and took a left turn. After walking for 3km
In the same direction, she took a left turn again and walk for
5km to reach point Q. From there, she walks 7m in the west
direction to reach Point P.

What is the position of Point B with respect to Point A

a) Southwest
b) Southeast
c) Northwest
d) Northeast
e) West



A person walks in the east direction from
point B. After, walking for 4km in the same
direction, he took a right turn and walks
3km to reach point C. From there, he took
a left turn of 4km then a right turn of4km
and reaches point D. Then, he turns left
and walks for 4km to reach point E. At
last, he walks In the north direction and
reaches Point P after walking 7km.
Another person walks in the west direction
from point A for 5km. Then, she turns right
and walks for 4km.Then, she turns right
again for 5km and took a left turn. After
walking for 3km in the same direction, she
took a left turn again and walk for 5km to
reach point Q. From there, she walks 7m
In the west direction to reach Point P



10 persons A, B,C,D, E, P, Q, R, S, and T are sitting in two parallel
rows, equidistant to each other with five persons sitting in each row.
Each person in row 1 is facing south and each person in row 2 is
facing north. Each person in row one faces a person in another row. A,
B, C, D, and E sit in row 2 whereas P, Q, R,S, and T sit in row 1. Row
1 is in north of row 2. Each of them likes a different color i.e., Violet,
Grey, Black, Green, White, Yellow, Blue, Orange, Red, and Pink but
not necessarily in the same order. T is sitting second to the left of the
one, who likes grey color. Two persons are sitting between A and C.
The one, who likes black color is sitting third to the right of the one,
who likes yellow color. P is sitting to the immediate right of R. P does
not like grey color. B is facing the one, who is sitting second to the right
of the person, who likes blue color. S is facing the one, who is sitting
Immediate right of the one, who likes white color. Two people are
sitting between the one, who likes white color and the one, who likes
orange color. Q and the one, who likes violet color are sitting in the
same row but not adjacent to each other. The one, who likes pink color
Is facing the one, who is sitting second to the left of the one, who likes
green color. The one, who likes pink color is facing the one, who is an
Immediate neighbor of the one, who likes red color. The one, who likes
grey color is facing the one, who is sitting immediate right of C. D is
sitting second to the left of B. The one, who likes yellow color is not
facing the same direction as Q Is facing.
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T Is sitting second to the left of the one, who likes grey color. Two persons are
sitting between A and C. The one, who likes black color is sitting third to the right
of the one, who likes yellow color. P Is sitting to the immediate right of R. P does
not like grey color. B is facing the one, who is sitting second to the right of the
person, who likes blue color. S is facing the one, who is sitting immediate right of
the one, who likes white color. Two people are sitting between the one, who likes
white color and the one, who likes orange color. Q and the one, who likes violet
color are sitting in the same row but not adjacent to each other. The one, who likes
pink color is facing the one, who is sitting second to the left of the one, who likes
green color. The one, who likes pink color is facing the one, who is an immediate
neighbor of the one, who likes red color. The one, who likes grey color is facing
the one, who is sitting immediate right of C. D is sitting second to the left of B. The
one, who likes yellow color is not facing the same direction as Q is facing.



T is sitting second to the left of the one, who likes grey color. Two
persons are sitting between A and C. The one, who likes black color
IS sitting third to the right of the one, who likes yellow color. P is
sitting to the immediate right of R. P does not like grey color. B is
facing the one, who is sitting second to the right of the person, who
likes blue color. S is facing the one, who is sitting immediate right of
the one, who likes white color. Two people are sitting between the
one, who likes white color and the one, who likes orange color. Q
and the one, who likes violet color are sitting in the same row but
not adjacent to each other. The one, who likes pink color is facing
the one, who Iis sitting second to the left of the one, who likes green
color. The one, who likes pink color is facing the one, who is an
Immediate neighbor of the one, who likes red color. The one, who
likes grey color is facing the one, who is sitting immediate right of
C. D is sitting second to the left of B. The one, who likes yellow
color is not facing the same direction as Q is facing.

Who sits to the left of T?

a) Q

b) S

c) A

d) No one

e) None of the above



T is sitting second to the left of the one, who likes grey color. Two
persons are sitting between A and C. The one, who likes black color
IS sitting third to the right of the one, who likes yellow color. P is
sitting to the immediate right of R. P does not like grey color. B is
facing the one, who is sitting second to the right of the person, who
likes blue color. S is facing the one, who is sitting immediate right of
the one, who likes white color. Two people are sitting between the
one, who likes white color and the one, who likes orange color. Q
and the one, who likes violet color are sitting in the same row but
not adjacent to each other. The one, who likes pink color is facing
the one, who Iis sitting second to the left of the one, who likes green
color. The one, who likes pink color is facing the one, who is an
Immediate neighbor of the one, who likes red color. The one, who
likes grey color is facing the one, who is sitting immediate right of
C. D is sitting second to the left of B. The one, who likes yellow
color is not facing the same direction as Q is facing.

Who likes red color?

a) Q

b) R

c) P

d T

e) S



T Is sitting second to the left of the one, who likes grey color. Two
persons are sitting between A and C. The one, who likes black color
IS sitting third to the right of the one, who likes yellow color. P is
sitting to the immediate right of R. P does not like grey color. B is
facing the one, who is sitting second to the right of the person, who
likes blue color. S is facing the one, who is sitting immediate right of
the one, who likes white color. Two people are sitting between the
one, who likes white color and the one, who likes orange color. Q
and the one, who likes violet color are sitting in the same row but
not adjacent to each other. The one, who likes pink color is facing
the one, who Iis sitting second to the left of the one, who likes green
color. The one, who likes pink color is facing the one, who is an
Immediate neighbor of the one, who likes red color. The one, who
likes grey color is facing the one, who is sitting immediate right of
C. D is sitting second to the left of B. The one, who likes yellow
color is not facing the same direction as Q is facing.

Find the odd one ouit.

a) Orange

b) Green

c) Yellow

d) Blue

e) Black



T is sitting second to the left of the one, who likes grey color. Two
persons are sitting between A and C. The one, who likes black color
IS sitting third to the right of the one, who likes yellow color. P is
sitting to the immediate right of R. P does not like grey color. B is
facing the one, who is sitting second to the right of the person, who
likes blue color. S is facing the one, who is sitting immediate right of
the one, who likes white color. Two people are sitting between the
one, who likes white color and the one, who likes orange color. Q
and the one, who likes violet color are sitting in the same row but
not adjacent to each other. The one, who likes pink color is facing
the one, who Iis sitting second to the left of the one, who likes green
color. The one, who likes pink color is facing the one, who is an
Immediate neighbor of the one, who likes red color. The one, who
likes grey color is facing the one, who is sitting immediate right of
C. D is sitting second to the left of B. The one, who likes yellow
color is not facing the same direction as Q is facing.

Who sits opposite to the one, who likes white color?
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